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B XE | [B | KB |&A E| pH [FILAY BE | %% |EY| &% vy | ® &
= BEW | 1 * Hy
°C °C E mg/ | mg/ | mg/ | mg/ | mg/ | mg/ |

1 [55] 30.6 16.4 0.9 7.54

2 £ 30.0f 16.2 0.8/ 7.65| 40.5 42.8 118 7.0 0.07| <0.02

3 = 29.5 16.0 0.9 7.55

4 [55] 26.6 16.0 0.9 7.54

5 = 26.2 15.7 0.7 7.59

6 £ 23.5 15.5 1.0 7.53

7 i 28.8 15.5 0.7 7.56

8 & 30.0 16.0 0.8/ 7.56

9 = 30.5 16.0 0.8/ 7.57

10 i 31.5 16.0 0.7 7.60

11 i 32.7 16.2 0.7 7.59

12 [55] 26.8 17.0 2.8/ 7.62

13 [55] 24.8 18.8 32.2| 1.54

14 £ 26.3 17.0 7.9 7.69

15 i 30.8 16.9 2.5 7.68

16 i 32.00 16.4 2.6 7.73] 48.3] 39.9 114 5.1 0.16| <0.02

17 = 26.2 16.2 1.2 7.64

18 [55] 24.2 16.8 5.3 7.53

19 i 30.0 16.1 1.9 7.68

20 i 27.1 15.0 1.9 7.60

21 = 29.0) 15.0 1.3| 7.62

22 i 28.3 16.0 2.6 7.64

23 i 28.0) 15.6 0.9 7.58

24 i 29.5 15.8 1.4/ 7.60

25 =) 23.2 15.3 1.0 7.59

26 £ 28.4] 16.0 1.2 7.51

217 i 29.1 15.4 1.1 1.57

28 [55] 28.0 15.8 0.8/ 7.60

29 =) 27.6 15.0 1.6 7.59

30 i 27.4) 15.2 0.9 7.61

31 [55] 26.0) 16.0 0.5| 7.54
Ty 28.1 16.0 2.6 | 7.59 | 44.4 | 41.4 116 6.1 0.12 | <0.02
== 32.17 18.8 322 | 1.713 | 48.3 | 42.8 118 7.0 0.16 | <0.02
=IE 23.2 | 15.0 0.5 | 7.51 40.5 | 39.9 114 5.1 0.07 | <0.02




